EANRAROBESIFRT — 2 N—ZABISH—F 20135F9A3H (X)) 7mE)IIB2H

KW > %—# C3IFENX (xwlw | mEmml - v 5 o 8
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Sy — - 4 5 | BEEEA 1:32.2 3-2-2-2 | 39.7| — 2 445 | ARBB (11#)
1 8 K)—LoA4—=> 54.0 (=) (-6) 3 3]
R:7H4FALNK Bie1HhT7 T 24 N5
1 > DIEeEPET Y AR B 1<732t>3 5-5-5-4 303 — | 3 | 45 ?gggﬁéﬂlmﬁ)
R AXNTLA BiFLAH—Z/N O | 55T Fas
3 3| T=F 4TI IN— o7 E_ng 1:(312>.5 2-3-4-3 | 39.9| - 5 | 454 %gg—g@;ﬁfu)
LILVIYLFe BiTr b ) I mp
AL 45 z%ﬂa"? 1(/%;5 7-8-8-8 |38.2| — 8 437 %;iﬁ (1)
LFLIIYR A HES S RPN
51111 7U—rFUst> # 5 | MERR (11:312/.28) 8-7-7-7 |39.1| — | 4 | 445 @ggﬁﬁé“/ﬂfg
RH—T— BhyTIREAN 9| s
6 4| 1T TRIZ R 6 gjlf%%ﬁi 1(/:\32; 6-6-6-5 [39.7| — | 1 | 455 ggz@(ﬁ*ﬂ)
v xIELI N B:IN- 4 T—X (-5) AR EER
717110/ 77 %> i 7 | ERSE 1(:33/32{)0 4-4-3-5 [40.4| — | 10 <4+283) %ﬂgig (70)
RigAFT ML By T by — RIS
8|56 2HEAYATY— # 5 ﬁﬁg—F 1:(323).4 -1-1-1 |41 | — | 7 | 449 %ﬂﬁéég (111
QRITT N E—Tr—F— K BTIFAI 3 \WT A%
gl7lglLAEY2Y o6 g{%ﬁéz (11:313/.27) 9-10-9-10 | 39.2 | — 1 460 éﬁg%éllwﬁ)
QARSI L RE— BE—tkLT ) Zmass—n
10l55| ==k i 5 57125311‘6? 1:(313).9 10-9-9-8 [39.4| — 6 463 giggﬁ (1)
LT INETy b B3R —HLR 4 | Ep77—n
11 IR HL AL~ it 6 ?ﬁ)it 1:(334).6 1M-11-11-11{ 39.1 | — 9 456 ;;zg;:m(“ll"ﬁ)
LF-TINRTNA—b BIYIF4 T F— | mamis
wlglio| FTTOF s 8- 4 5 %gﬁzﬁ& ) = - - | = <:) Eﬁiﬁl’”“’%’
RiNngE&—TOFTI8— B:iF—7 bX—X BB RS
® I —F—EBIERL
13—74— 6,3,8,10,2,4,11,1,9,5,7
Aol=5r= 6,8,3,10,2,4,1,11,5,9,7
3a—7+— |[6,8,10,3,(2,4),1,11,(5,9),7
43—7F— 16,8,3,2,(4,10),1,(5,11),9,7
[ RN
B OB 8 330M 714K 2-8 6204 % E 2-6 1,840M &R 2-3-8 6,300
8 B 8 190M 3-8 1,170H B 6-2 3,430M JEH 8-2-3 21,610
2 1904 2-3 1,260H B E 2-8 1,930M
8 310 B H 8-2 3,120M

ABICOVWTRDTEEERROODE. TR LIV,



